Volome ctepmkl

e(""" = v 2
aezd/-nf —"_Vo(wnﬂ %{,‘/,\?)
wd V, di  x %, 4, q9,6)

!m( E,(k,,,) ,zz(r,y) .

G(X ﬂ[, ﬂ{i =20 0{3V

Gesante s z _ fp(Xr
els &= V ‘{ v CP W ni)
¥, 9, (= t ""f
%’W‘v{"‘” - zo/x of. (X, ?)
t?wvfes{:u&a g’, [1,(1)1 Z'('"t) ( e
Gorfd o Gole Le: g
[/7 Z '--’('». i F(X&/‘/r /‘ X
? S rv(g,,fo(w,
o $7) 7 2B ;’;,«...{, ley = V)= Q<[ d
- Desse ]/6( r‘
Lenn j’ 7;_' ) JQqn
o M < f A S
/7R
Tt s(ete 5% )

V) e f b 2D
f |-?

7-¢l

4 Fry ) 7T

? - ﬁ7 4'111(

e o

,

2) 0£?¢ zmv/é‘ ’(f‘i V""W‘* S}/g(c/'('n, 6'{‘

(ol gomim boer 7 )4,

”(“"5‘6 ’ %c‘»‘o(» 7_

S::O
(.5,..,({ 2 ([(w{ 7% 4 ‘(V ? -:=)£ §(.é
> ek, fcr

SYNN

69



6.5 l(rvmm[nge Lo .

f?ﬁ»é‘:f&{.- A A /%L‘r }E
< ¢ csle) 5
s e ) ¢
?: g (fw(?) ‘% A

2 ¢
O(3r = 0/3 S o(t( ‘(} = v EJ&,.,.. V‘.(‘ . U“-\’w{wm ”
Lo S
.ég‘a'[”"”( z g ‘); Y l

X2 sinl) co;(‘.) i
g: VfM(J) .cm(«() Feos(d)

* r Ces {J) \ (_JM(A})'

d3r T Wsbe « (M- geeife)- (-0 fre[(c)
de +  rdF o i) oy
r dF nlt) o(r
\ T - Hes- G’“"‘W““‘/,z
> "Havs- Grad ke

&z. Vg’ng o[!('/{

o —

el (R)
| fc(r e (olv" rﬂ:(o‘) ‘(EO)IY

H
§
¢

7o



71
G Bl bt bl Momnlly )

(; olee Pferd

- e 3, f"
Viz) [ pm [ 2o
|

ﬁ
N?.nntv ‘ l" fr' ‘;?

T —r«n(o(rr j(') flf {JJ’S%JJ)

L,/;éf‘w/ 1-",— /’ﬂ&;'r-t‘éfﬁ ”3{{ r #’{ . , r’f“}_cé'
=) oview (c'olz r'e’— [(v;.jéan{ Y Js ”i" o‘("(Sc b’ C
D ¢ = e s (&)

S PR e L

T e = 2er’cosics’)

T

T—é‘“”‘"fﬂ: ' |
(45 i) o) = Sde 46 = Sl {0

Sobsé, u'~-‘—°$(1})
[ du = oS se:ls?)

N A ’ | - |
7 R 2w ,(,','ZS-(F’) (o{“(ﬁr'l';-z"'a' ] ;!" ""{—')

)

o

)]

ey M "";3
- M Z—E a/r'r’j{f )\L{r-ﬂ )Z bt I ‘- f')‘ j
L’ ('\/uri_o( ete'a.?
Vﬂ(w“.’ {ﬁev‘.aac )

Q

I

20« t{ - \}:"‘C{;‘vm LY VY te

g T .
N Tt S

a7

nﬂa Eramme é(omr/. Y, /I/'ﬂv 2D ((C{%{c on /I/&, é;m,/ J/ :

vichr fecé

J("k/f—f‘v) 7 (uv) (/
v faf

7 ylav) ]

r = /’["l*"/'z l
m:’é a[?, o{u ),4
wd d2, ~ d ),

AV W
w wrele fort

"

7w VY



72
7 TMV [ Ox,3%¢,0) x (3,4, 0y, )/
Ia/a, du | (5,0, (303, =)o)

= X 9"7 [ ‘:é = ad-be
b / I dox vy ll/ Feli - Dek. {( | d )

= o(?r= o/aa/—v /2/

(,
= J, x )« = : )(,) ‘
S I"V,‘ °?Z / Q‘fv:?..f

Bsp et € Pl toreol usr, v
cs ., o

-rS frc¢

X = rcu(:() 9:
= rsm (Y)

& Tecd  ad 4(,,3,/5;“9(, Lo ddod, 31

]

2:5': rzﬂ"r(‘r}) i

:Dua(,‘\n{mx, ,/ l-'S(v: M}/)’ﬁ«yn.,{ “,
feé( : e»«/-«( .’ AR P

—

é, { De/{u - %a‘f{/n (JOI P‘f?s;i-/ )

r onn genbid o] fuit ﬂ
ﬂx).’?ﬁm&x l/\- ’x + e

' @
[ L o — [’ &
o L < ww/ﬁéw “breid

T(x
Lt losbt e T =
7 M( - i \\/% Sla )

. e L ( 0 ,
/{DCI‘ “ QJ() = iedé vhm('/(évf Cv\a, ; e.,(} : Ivetv(e l
Le, X=0 40»1%%64&,(@ n{

I

Mlé (o{k ((3) = l ’ by el

N A £
{Onml/g éw "eo(



